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Which of the following relations R:A—B represent a function,
" given A ={3,1,2,10} and B ={9,6,4,7} ?
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Which of the following does not represent a function A-B,
where A ={8,1,9,2,3}and B ={6,4,10,7,5} ?

(i) {(2,5),(9,4),(8,10),(1,10),(3,5)} (i) {(2,4),(3,5),(1,5).(8,4),(9,4)} (iii) {(1,10),(9,5),(8,10),(3,4),(2,5)}

(iv) {(9.6),(1,4),(8,10),(2,6),(3,6)} (v) {(8,4),(1,5),(9,6),(1,10),(3,4)}

Which of the following does not represent a function A-B,
where A ={7,6,2,5}and B ={1,4,3,9}7

(i) {(5,1),(7,9).(6,1),(2,4)} (ii) {(6,3),(7,4),(2,9),(5,9)} (iii) {(7,9),(6,9),(5,9).(2,3)}

(iv) {(7,1),(5,3).(6,3),(2,1)} (v) {(5,4).(6,9),(7,3)}



Which of the following does not represent a function A-B,

" where A ={8,2,9,7}and B ={10,3,5,6} ?
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Which of the following does not represent a function A-B,

" where A ={7,2,10}and B ={3,6,4,1} ?
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Which of the following relations is a function A-B,
" where A ={m,j,h,i}and B ={n,a,c,l,0,b}?

(i) {(h,c),(j.b),(i,n),(m,c)} (ii) {} (iii) {(h,c),(i,n),(m,c),(b,j)}

(v) {(h,c),(j,b).(m,c)}

(iv) {(h,c),(j,b),(i,n),(m,c),(b,j)}



11.

12.

13.

14.

15.

Which of the following relations does not represent a function ,A-B,
where A ={l,g,n,k,i,c} and B ={o,a,f,b,e,j}?

(i) {(n,0),(g.j).(c,0),(l,e),(i,a),(ke)} (ii) {(l,0),(c,e).(g,f),(i,f).(k0),(nf} (i) {(nf),(cf),(kb)(g.f)(cb)(g,b)}
(iv) {(g,b),(n,0),(k,e),(c,0),(Lj).(i,H)} (v) {(g,0),(k,(f),(l,e).(i,b),(n,j)(c,f)}

Iff(x)=(6x+3), then find f(8)
(i) 51 (ii) 52 (iii) 54 (iv) 49 (v) 50

Iff(x)=(x+7)andg(y)=(7y+5), then findf(6),9(1)
(i) 14,13 (ii) 16,14 (iii) 10,10 (iv) 13,12 (v) 12,11

If A-Bis defined by f(x)=(4x+9)and A ={6,2,5,1},

" find the range

(i) {17,13,18,33,-9,29} (ii) {13,29,17} (iii) {33,17,29,13} (iv) {17,33,13,34} (v) {24,-5,29,13}

Which of the following relations is a function given,
A ={5,3,2,6}and B ={3,5,9,10} ?
(i) {(5,9),(3,5),(6,5)} (ii) {(5,9).,(3,5),(6,5),(6,1)} (iii) {(5,9),(3,5),(2,5),(6,5)} (iv) {(5,9),(2,5),(6,5),(5,3)}

(v) {(5,9).(3,5),(2,5),(6,5).(5,3)}

Iff(t)= (612 +8t+4) then find f(6x+4 )

(i) (217x2+336x+132) (i) (215x2+336x+132) (i) (219x%2+336x+132) (iv) (216x%+336x+132)

(v) (214x%+336x+132)

Find the range of ,Z-=Z where f(x)=(9x+5)

and domain of fis{x: -2 = x =2}
(i) {-13,-4,5,14,23} (ii) {-13,-4,14,23,6} (iii)) {-13,5,14,23,-6} (iv) {-13,-4,5,23,16} (v) {-4,5,14,23,-14}

Let R—R be a function defined by given conditions
f(x)=(7x+8)ifx<-4

f(x)=(x+5)if-4=x<6

f(x)=(5x+4)ifx>6

find f(x)where x =-8

(i) -3 (ii) -48 (iii) -36 (iv) -47 (v) -49

Find the range of .Z—»Z where f(x) = (5)(2 +5x-5)
and domain of fis{x : -3 = x = 1}

(i) {25,-5,3} (ii) {25,5,-5} (iii) {25,-5,6} (iv) {25,5,-3} (v) {5,-5,24}



Assignment Key

1) (i) 2) (v) 3) (v) 4) (iii) 5) (i) 6) (i)
7) (iii) 8) (i) 9) (iv) 10) (iii) 11) (iii) 12) (iv)
13) (i) 14) (ii) 15) (ii)
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